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K- k-nearest neighbor
density estimation method)
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p(x)
(Integrated squared error)
ISE(h) = | (P(x)— p(x)) dx
= [ (B0 dx—2] PO p(x)dx+ | (p(x))dx
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Octave
ex1ll.m knn.m
clear all function Uh=knn(X,Y,T,k)
load digit.tmat X T
n_train=size(X,2); n_test=size(T,2);
[d,n,nc]=size(X); nt=size(T,2); d=repmat(sum(X.*2,1)",[1 n_test]) ...
k=100; XX=[]; Y=[]; +repmat(sum(T.*2,1),[n_train 1])-2*X"™*T;
for c=1:nc [dum,nn_index]=sort(d,1);
XX=[XX X(:,:,C)];
Y=[Y c*ones(1,n)]; fori=1:n_test %majority vote
end Ynn=Y(nn_index(1:K,i));
Ys=sort(Ynn);
for ct=1:nc ch_flag=(Ys(1.end-1)~=Ys(2:end));
Uh=knn(XX,Y,T(:,:,ct),k); ch=find(horzcat(1,ch_flag));
for c=1:nc co=horzcat(ch(2:end),k+1)-ch;
C(ct,c)=sum(Uh==c); [maxco,index]= max(co);
end Uh(1,)=Ys(ch(index));
end end
C




